
Name: Date:
Class:Teacher:

Multiplication 615
Where does a bird go when it loses its tail? The retail store.

You might need a CALCULATOR for these since 
there's no space for all the working out!

1. 2. 3. 4. 5.

6. 7. 8. 9. 10.

11. 12. 13. 14. 15.

16. 17. 18. 19. 20.

21. 22. 23. 24. 25.

26. 27. 28. 29. 30.

31. 32. 33. 34. 35.

36. 37. 38. 39. 40.

688 614 703 297 701

553 355 963 617 838

778 101 140 730 586

528 274 115 432 572

492 626 966 617 838

778 101 252 919 736

473 938 902 992 877

813 777 211 294 230

36 26 87 42 94

55 63 11 91 53

38 40 48 30 48

64 40 95 98 89

47 25 12 91 53

38 40 93 16 15

45 52 56 66 81

86 16 34 95 82

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×
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Answer Key Date:
Class:Teacher:

Multiplication 615
Where does a bird go when it loses its tail? The retail store.

You might need a CALCULATOR for these since 
there's no space for all the working out!

1. 2. 3. 4. 5.

6. 7. 8. 9. 10.

11. 12. 13. 14. 15.

16. 17. 18. 19. 20.

21. 22. 23. 24. 25.

26. 27. 28. 29. 30.

31. 32. 33. 34. 35.

36. 37. 38. 39. 40.

688 614 703 297 701

553 355 963 617 838

778 101 140 730 586

528 274 115 432 572

492 626 966 617 838

778 101 252 919 736

473 938 902 992 877

813 777 211 294 230

36 26 87 42 94

55 63 11 91 53

38 40 48 30 48

64 40 95 98 89

47 25 12 91 53

38 40 93 16 15

45 52 56 66 81

86 16 34 95 82

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

× × × × ×

24,768 15,964 61,161 12,474 65,894

30,415 22,365 10,593 56,147 44,414

29,564 4,040 6,720 21,900 28,128

33,792 10,960 10,925 42,336 50,908

23,124 15,650 11,592 56,147 44,414

29,564 4,040 23,436 14,704 11,040

21,285 48,776 50,512 65,472 71,037

69,918 12,432 7,174 27,930 18,860
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